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TRANSFORMATIONS OF SUMS AND PRODUCTS

Iiiustrative Examples

1. Express in product form: 

Watch Video Solution

sin 5α + sin 3α

2. Express in product form: 

cos θ − cos 3θ

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_8wE0Khs2dswj
https://dl.doubtnut.com/l/_mJ6TeeIpgext


Watch Video Solution

3. Express as sum or difference: 

Watch Video Solution

sin cos
3θ

2

5θ

2

4. Express as sum or difference: 

Watch Video Solution

4sin 20∘ sin 35∘

5. Prove that 

Watch Video Solution

sin 55∘ − cos 55∘ = √2sin 10∘

https://dl.doubtnut.com/l/_mJ6TeeIpgext
https://dl.doubtnut.com/l/_Jm00lImPztM4
https://dl.doubtnut.com/l/_M3XAdUhOcCy8
https://dl.doubtnut.com/l/_lFcEVqVHxZLe


6. Prove that 

Watch Video Solution

sin 16∘ + cos 16∘ = (√3cos 1∘ + sin 1∘ )
1

√2

7. Prove that 

Watch Video Solution

sin 20∘ + sin 140∘ − cos 10∘ = 0

8. Prove that 

Watch Video Solution

sin 20∘ sin 40∘ sin 60∘ sin 80∘ =
3

16

9. Prove that 

cos 80∘ cos 40∘ + cos 40∘ cos 200∘ + cos 200∘ cos 80∘ = −
3

4

https://dl.doubtnut.com/l/_7ZxFXojN0mJH
https://dl.doubtnut.com/l/_ZFs251t2RBrC
https://dl.doubtnut.com/l/_mlEoybTk0FkP
https://dl.doubtnut.com/l/_N3voYebK4wgs


Watch Video Solution

10. Prove that 

Watch Video Solution

tan(60∘ − θ)tan(60∘ + θ) =
2 cos 2θ + 1

2 cos 2θ − 1

11. Prove that 

Watch Video Solution

= tan 2x
sin 7x − sin 5x − sin 3x + sin x

cos 7x − cos 5x + cos 3x − cos x

12. Prove that 

Watch Video Solution

= tan 6θ
sin θ sin 9θ + sin 3θ sin 5θ

sin θ cos 9θ + sin 3θ cos 5θ

https://dl.doubtnut.com/l/_N3voYebK4wgs
https://dl.doubtnut.com/l/_CjXB2Ze0Rnyn
https://dl.doubtnut.com/l/_BEzbdpzErA7L
https://dl.doubtnut.com/l/_as93ODl14EI7


13. Express  in the product

form.

Watch Video Solution

cos A − cos B + cos C − cos(A + B + C)

14. Show that 

Watch Video Solution

4 sin A sin B sin C = sin(A + B − C) + sin(B + C − A) + sin(C + A − B

15. 

Watch Video Solution

Ifb cos(θ + 120∘ ) = c cos(θ + 240∘ ), then show that, b − c = − (b + c)√

16. 

Ifb sin α = α sin(α + 2β), show that(b + a)tan β = (b − a)tan(α + β)

https://dl.doubtnut.com/l/_TKtMEo66Z90Y
https://dl.doubtnut.com/l/_1wYt548uzk3A
https://dl.doubtnut.com/l/_AdX6Nl96vips
https://dl.doubtnut.com/l/_dL0qd9VY96bA


Watch Video Solution

17. 

Watch Video Solution

Ifa cos θ = b cos(θ + ) = c cos(θ + ), prove thatab + bc + ca = 0
2π

3
4π

3

18. 

Watch Video Solution

If sin x − sin y = a  and cos x + cos y = b, show that tan = ± √
x + y

2

19. 

Watch Video Solution

Ifa sin α = b sin β  then show that , b cot α + a cot β = (a + b)cot
α + β

2

https://dl.doubtnut.com/l/_dL0qd9VY96bA
https://dl.doubtnut.com/l/_mjRwwHuzLcCm
https://dl.doubtnut.com/l/_MvuZ4eATw5So
https://dl.doubtnut.com/l/_jkeHpgir8cN1


20. 

Watch Video Solution

If sec A − cosecA = cosecB − sec B, show that tan A tan B = tan
A + B

2

21. Show that 

 


 when n is an even integer, 


0, when n is an odd integer.

Watch Video Solution

( )
n

+ ( )
nsin A + sin B

cos A + cos B

cos A − cos B

sin A − sin B

= 2tann A + B

2

22. Find the value of 

Watch Video Solution

sec 80∘ − 2cos 20∘1

2

23. Find the value of  for which sin  - ) is maximum.θ θ sin(θ
π

3

https://dl.doubtnut.com/l/_PofcpSwjTtYJ
https://dl.doubtnut.com/l/_2WPaj7K69EOJ
https://dl.doubtnut.com/l/_mV7xLnRFcF7V
https://dl.doubtnut.com/l/_5mMLBdQMjlug


Multiple Choice Type Questions

Watch Video Solution

24.  show that 

Watch Video Solution

If0∘ < A < B < 90∘ sin A < sin B

25. Prove that 

 


 


Watch Video Solution

sin x sin y sin(x − y) + sin y sin z sin(y − z)

+sin z sin x sin(z − x) + sin(x − y)

sin(y − z)sin(z − x) = 0

1. sin C + sin D=

A. 2sin cos
C + D

2

C − D

2

https://dl.doubtnut.com/l/_5mMLBdQMjlug
https://dl.doubtnut.com/l/_p3FUFdlM2btQ
https://dl.doubtnut.com/l/_QulxTxNrWq4M
https://dl.doubtnut.com/l/_WE9uxntMh04r


B. 

C. 

D. 

Answer: A

Watch Video Solution

2cos sin
C + D

2

C − D

2

2cos cos
C + D

2

C − D

2

2sin sin
C + D

2

D − C

2

2. cos C + cos D =

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

2sin cos
C + D

2

C − D

2

2cos sin
C + D

2

C − D

2

2cos cos
C + D

2

C − D

2

2sin sin
C + D

2

D − C

2

https://dl.doubtnut.com/l/_WE9uxntMh04r
https://dl.doubtnut.com/l/_DqBv1fU8JueX
https://dl.doubtnut.com/l/_cEMUg0XpmfjL


3. sin C - sin D =

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

2sin cos
C + D

2

C − D

2

2cos sin
C + D

2

C − D

2

2cos cos
C + D

2

C − D

2

2sin sin
C + D

2

D − C

2

4. cos C - cos D=

A. 

B. 

C. 

D. 

2sin cos
C + D

2

C − D

2

2  cos sin
C + D

2

C − D

2

2cos cos
C + D

2

C − D

2

2sin sin
C + D

2

D − C

2

https://dl.doubtnut.com/l/_cEMUg0XpmfjL
https://dl.doubtnut.com/l/_LDofdeT0dpSf


Answer: D

Watch Video Solution

5. 

A. 

B. 

C. 

D. none of these

Answer: B

Watch Video Solution

2sin 40∘ sin 10∘ =

cos 30∘ + cos 50∘

cos 30∘ − cos 50∘

cos 50∘ − cos 30∘

6. 

A. 

2sin 25∘ cos 15∘ =

sin 40∘ + sin 10∘

https://dl.doubtnut.com/l/_LDofdeT0dpSf
https://dl.doubtnut.com/l/_k9ySQI4Z8W5t
https://dl.doubtnut.com/l/_71TLRF96RbV5


B. 

C. 

D. none of these

Answer: A

Watch Video Solution

sin 40∘ − sin 10∘

sin 10∘ − sin 40∘

7. State which of the following is true ?

A.  can be expressed as one cosine only

B.  can be expressed as one sine only

C. cos A cos B can not be expressed as the sum of two cosines

D. sin A cos B can be expressed as the difference of two sines

Answer: B

Watch Video Solution

cos 10∘ + cos 25∘

cos 20∘ − cos 40∘

https://dl.doubtnut.com/l/_71TLRF96RbV5
https://dl.doubtnut.com/l/_BTp8DVzLKtcZ
https://dl.doubtnut.com/l/_H1KmATmf8FW9


8. State which of the following is equal to 

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin sin
5θ

2

3θ

2

(sin 4θ − sin θ)
1

2

(cos 4θ − cos θ)
1

2

(cos θ − cos 4θ)
1

2

(cos θ + cos 4θ)
1

2

9. State which of the following is equal to 

A. 

B. 

C. 

D. 

√3sin 10∘

sin 40∘ + sin 20∘

cos 50∘ − cos 70∘

cos 50∘ + cos 70∘

sin 70∘ + sin 50∘

https://dl.doubtnut.com/l/_H1KmATmf8FW9
https://dl.doubtnut.com/l/_1AXgL8hRs6U9


Very Short Answer Type Questions

Answer: B

Watch Video Solution

1. Prove that 

Watch Video Solution

= cot 2θ
sin 3θ − sin θ

cos θ − cos 3θ

2. Prove that 

Watch Video Solution

= tan
sin A − sin B

cos A + cos B

A − B

2

3. Prove that 

= tan 2θ
sin θ + sin 2θ + sin 3θ

cos θ + cos 2θ + cos 3θ

https://dl.doubtnut.com/l/_1AXgL8hRs6U9
https://dl.doubtnut.com/l/_eWpWm0ABl21X
https://dl.doubtnut.com/l/_K7xGYhHSPIGO
https://dl.doubtnut.com/l/_W3n2jRWZpt8K


Watch Video Solution

4. Prove that 

Watch Video Solution

(cos α − cos β)2 + (sin α − sin β)2 = 4sin2 α − β

2

5. Prove that 

Watch Video Solution

cos 10∘ + cos 110∘ + cos 130∘ = 0

6. Prove that 

Watch Video Solution

sin 85∘ − cos 65∘ + cos 55∘ = 0

https://dl.doubtnut.com/l/_W3n2jRWZpt8K
https://dl.doubtnut.com/l/_fkiLpwzjQleP
https://dl.doubtnut.com/l/_gBOEYuCqklGH
https://dl.doubtnut.com/l/_MHMPiAA5vRJS


7. Prove that 

Watch Video Solution

sin 18∘ + cos 18∘ = √2cos 27∘

8. Prove that 

Watch Video Solution

= √3
sin 75∘ + sin 15∘

sin 75∘ − sin 15∘

9. Prove that 

Watch Video Solution

= 2 − √3
cos 45∘ − cos 75∘

sin 45∘ + sin 75∘

10. Prove that 

= tan 25∘cos 20∘ − sin 20∘

cos 20∘ + sin 20∘

https://dl.doubtnut.com/l/_QKwvXRLkiuYy
https://dl.doubtnut.com/l/_frEFGf7fnUlE
https://dl.doubtnut.com/l/_UUAUzaoTX1Rm
https://dl.doubtnut.com/l/_l9fDJbo1Gheg


Watch Video Solution

11. Prove that 

Watch Video Solution

= tan 35∘cos 10∘ − sin 10∘

cos 10∘ + sin 10∘

12. Prove that 

Watch Video Solution

= tan(β − α)
cos 2α − cos 2β

sin 2α + sin 2β

13. 

Watch Video Solution

Ifx cos α + y sin α = x cos β + y sin β, show that, y = xtan
α + β

2

https://dl.doubtnut.com/l/_l9fDJbo1Gheg
https://dl.doubtnut.com/l/_pJlVitltXihn
https://dl.doubtnut.com/l/_nS41fsl3pJO0
https://dl.doubtnut.com/l/_3RYg1VjnUT5M


Short Answer Type Questions

14. 

Watch Video Solution

If  cos α + cos β =  and sin α + sin β = , show that  tan =
1

3

1

4

α + β

2

1. Prove that 

Watch Video Solution

sin α + sin(120∘ + α) + sin(240∘ + α) = 0

2. Prove that 

Watch Video Solution

sin 5x cos 2x + cos 6x sin 3x = sin 8x cos x

https://dl.doubtnut.com/l/_SmmUqCPtB401
https://dl.doubtnut.com/l/_QQE4jLZqtbfi
https://dl.doubtnut.com/l/_a2mZENOzSm7j


3. Prove that 

Watch Video Solution

sec( + θ)sec( − θ) = 2 sec 2θ
π

4

π

4

4. Prove that 

Watch Video Solution

cos(α + β) + sin(α − β) = 2 sin( + α)cos( + β)
π

4

π

4

5. Prove that 

Watch Video Solution

1 + = 0
cos 105∘ + cos 165∘

sin 105∘ + sin 375∘

6. Prove that 

sin 10∘ + sin 50∘ − sin 70∘ = 0

https://dl.doubtnut.com/l/_5K6Ln4RpES6G
https://dl.doubtnut.com/l/_2d4kBqTFeRxQ
https://dl.doubtnut.com/l/_Hn2nxP7M3kAC
https://dl.doubtnut.com/l/_9CPwicNHw6PU


Watch Video Solution

7. Prove that 

Watch Video Solution

cos 80∘ − cos 40∘ + √3cos 70∘ = 0

8. Prove that 

Watch Video Solution

cos(60∘ + A) + cos(60∘ − A) − cos A = 0

9. Prove that 

Watch Video Solution

sin( + θ) − sin( − θ) + sin θ = 0
2π

3

2π

3

https://dl.doubtnut.com/l/_9CPwicNHw6PU
https://dl.doubtnut.com/l/_0ahwnWbSfOZ1
https://dl.doubtnut.com/l/_04czlQytkxgY
https://dl.doubtnut.com/l/_RVwjoAHpDzvY


10. Prove that 

Watch Video Solution

sin 19∘ + sin 41∘ + sin 83∘ = sin 23∘ + sin 37∘ + sin 79∘

11. Prove that 

Watch Video Solution

sin 10∘ + sin 20∘ + sin 40∘ + sin 50∘ = sin 70∘ + sin 80∘

12. Prove that 

Watch Video Solution

cos + cos − 2cos cos = 0
3π

13

5π

13

9π

13

12π

13

13. Prove that 

4sin 15∘ sin 75∘ = √2(cos 105∘ + sin 75∘ )

https://dl.doubtnut.com/l/_4q6vXnWYEiCg
https://dl.doubtnut.com/l/_ABdGvkYrKHNS
https://dl.doubtnut.com/l/_WAm2NQCgoJcX
https://dl.doubtnut.com/l/_8HIBemUsxMFn


Watch Video Solution

14. Prove that 

Watch Video Solution

sin 80∘ cos 20∘ + sin 45∘ cos 145∘ + sin 55∘ cos 245∘ = 0

15. Prove that 

Watch Video Solution

cos 32∘ sin 20∘ + cos 144∘ cos 2∘ + sin 68∘ cos 56∘ = 0

16. Prove that 

Watch Video Solution

cos 306∘ + cos 234∘ + cos 162∘ + cos 18∘ = 0

https://dl.doubtnut.com/l/_8HIBemUsxMFn
https://dl.doubtnut.com/l/_6TAvlZVzYZqO
https://dl.doubtnut.com/l/_DGPczRVVFt2t
https://dl.doubtnut.com/l/_Ham5e1TWblFg


17. Prove that 

Watch Video Solution

cos 10∘ cos 20∘ + sin 45∘ cos 145∘ + sin 55∘ cos 245∘ = 0

18. Prove that 

Watch Video Solution

cos 24∘ + cos 55∘ + cos 125∘ + cos 204∘ + cos 300∘ =
1

2

19. Prove that 

Watch Video Solution

cos 20∘ cos 40∘ cos 80∘ =
1

8

20. Prove that 

8sin 20∘ sin 40∘ sin 80∘ = √3

https://dl.doubtnut.com/l/_L6qs3XnXeqxz
https://dl.doubtnut.com/l/_VgJ3wmyZyPGF
https://dl.doubtnut.com/l/_brFxrOFh5hfR
https://dl.doubtnut.com/l/_x1E3B8ATLpjo


Watch Video Solution

21. Prove that 

Watch Video Solution

tan 20∘ tan 40∘ tan 80∘ = √3

22. Prove that 

Watch Video Solution

cos 40∘ cos 80∘ cos 160∘ = −
1

8

23. Prove that 

Watch Video Solution

cos θ cos(60∘ − θ)cos(60∘ + θ) = cos 3θ
1

4

https://dl.doubtnut.com/l/_x1E3B8ATLpjo
https://dl.doubtnut.com/l/_kTADaKrT7bTF
https://dl.doubtnut.com/l/_OJYKZcRKgLkP
https://dl.doubtnut.com/l/_CU02nSGI6NLD


24. Prove that 

Watch Video Solution

4 sin θ sin( + θ)sin( − θ) = sin 3θ
π

3

π

3

25. Prove that 

Watch Video Solution

cos α cos(120∘ + α)cos(240∘ + α) = cos 3α
1

4

26. Find the value: 

Watch Video Solution

sin 78∘ − sin 18∘ + sin 30∘ − sin 42∘

27. Find the value: 

sec 20∘ sec 40∘ sec 80∘

https://dl.doubtnut.com/l/_N7E8RzMc3nmV
https://dl.doubtnut.com/l/_6ujz4kA7N5JK
https://dl.doubtnut.com/l/_EHmBHtxfZvZ3
https://dl.doubtnut.com/l/_cTHnWycHfgHW


Watch Video Solution

28. Find the value: 

Watch Video Solution

√3cot 20∘ cot 40∘ cot 80∘

29. Find the value: 

Watch Video Solution

− 2sin 70∘1

2sin 10∘

30. Prove the following identities : 

Watch Video Solution

4sin 23∘ sin 37∘ sin 83∘ = cos 21∘

https://dl.doubtnut.com/l/_cTHnWycHfgHW
https://dl.doubtnut.com/l/_g8EXtDh1fsYz
https://dl.doubtnut.com/l/_1TSWlcDzYbLf
https://dl.doubtnut.com/l/_dGNsIpxW7LOQ


31. Prove the following identities : 

Watch Video Solution

cos 2A + cos 4A + cos 6A + cos 8A = 4 cos A cos 2A cos 5A

32. Prove the following identities : 

Watch Video Solution

= tan A
sin(A + B) − 2 sin A + sin(A − B)

cos(A + B) − 2 cos A + cos(A − B)

33. Prove the following identities : 

Watch Video Solution

= tan 4θ
sin θ + sin 3θ + sin 5θ + sin 7θ

cos θ + cos 3θ + cos 5θ + cos 7θ

34. 

Watch Video Solution

If13θ = π   show that cos 3θ + cos 5θ + 2 cos θ cos 9θ = 0

https://dl.doubtnut.com/l/_7hmB16iAxdLk
https://dl.doubtnut.com/l/_HOrI9mAhKanR
https://dl.doubtnut.com/l/_dh4WIKsUr4Ui
https://dl.doubtnut.com/l/_umQFkKDsTawc


35. 

Watch Video Solution

If sin 2α = 4 sin 2β, show that, 5 tan(α − β) = 3 tan(α + β)

36. 

Watch Video Solution

If sin A = m sin B, prove thattan = tan
A − B

2

m − 1

m + 1

A + B

2

37. 

Watch Video Solution

If cos α = k cos β, show that, tan = cot
α + β

2
1 − k

1 + k

α − β

2

38.  prove that 


Watch Video Solution

IfcosecA + sec A = cosecB + sec B

tan = cot A cot B
A + B

2

https://dl.doubtnut.com/l/_umQFkKDsTawc
https://dl.doubtnut.com/l/_Hs1qgAoOXggd
https://dl.doubtnut.com/l/_Tll4HCV6yES0
https://dl.doubtnut.com/l/_r7rh9f05ilxQ
https://dl.doubtnut.com/l/_UxfPvKXQDWN9
https://dl.doubtnut.com/l/_TZ49TYyLNvEs


39. 

Watch Video Solution

Ifα, β, γare in A.P. show that cot β =
sin α − sin γ

cos γ − cos α

40. 

Watch Video Solution

If cot y = , show that cot x, cot yand cot zare in A
sin(z + x)

cos(z − x) − cos(z + x)

41. 

Watch Video Solution

If sin x + sin y = √3(cos y − cos x), then show that sin 3x + sin 3y = 0

42. 

Watch Video Solution

If cot θ = cos(x + y)and cot ϕ = cos(x − y), show that tan(θ − ϕ) =
2 s

cos2

https://dl.doubtnut.com/l/_TZ49TYyLNvEs
https://dl.doubtnut.com/l/_jKElwFCn4Jmd
https://dl.doubtnut.com/l/_wxbOp0NM85ci
https://dl.doubtnut.com/l/_ZMbIUrqKZSSN


Long Answer Type Questions

1. Prove the following identities: 

Watch Video Solution

sin 10∘ sin 50∘ + sin 50∘ sin 250∘ + sin 250∘ sin 10∘ = −
3

4

2. Prove the following identities: 

Watch Video Solution

= tan 8α
sin α sin 11α + sin 3α sin 7α

sin α cos 11α + sin 3α cos 7α

3. Prove the following identities: 

Watch Video Solution

tan θ tan( + θ)tan( − θ) = tan 3θ
π

3

π

3

https://dl.doubtnut.com/l/_ZMbIUrqKZSSN
https://dl.doubtnut.com/l/_VssRIim7hpdm
https://dl.doubtnut.com/l/_XKQ9y8CvmG8d
https://dl.doubtnut.com/l/_aIXEAHuhFYzO
https://dl.doubtnut.com/l/_nZFyC3ELu6Hk


4. 

Watch Video Solution

If  a cos ϕ = b cos θ,    show that  a tan θ + b tan ϕ = (a + b)tan(
θ + ϕ

2

5. 

Watch Video Solution

Ifp sin α = q sin(120∘ + α) = r sin(240∘ + α), prove that, pq + qr + rp =

6. 

Watch Video Solution

If cos θ = n cos(θ + 2ϕ)show that(n + 1)tan(θ + ϕ) = (n − 1)cot ϕ

7. 

Watch Video Solution

Prove that : sin α + sin β + sin γ − sin(α + β + γ) = 4sin sin
α + β

2

β +

2

https://dl.doubtnut.com/l/_nZFyC3ELu6Hk
https://dl.doubtnut.com/l/_m4r3OcFdCNlN
https://dl.doubtnut.com/l/_Vw6qovyNWXn2
https://dl.doubtnut.com/l/_T29UWmTBUwsc


8. Express  as the sum of four sines.

Watch Video Solution

4 sin A cos B cos C

9. Express  as the product of

three cosines.

Watch Video Solution

cos α + cos β + cos γ + cos(α + β + γ)

10. 

Watch Video Solution

IfA + B + C = πand sin(A + ) = nsin show thattan tan =
C

2

C

2

A

2
B

2

n

n

11. If  prove that 


Watch Video Solution

sin θ + sin ϕ = a, cos θ + cos ϕ = b

tan( ) = ± √
θ − ϕ

2
4 − a2 − b2

a2 + b2

https://dl.doubtnut.com/l/_S66t1rnHsqFl
https://dl.doubtnut.com/l/_P7trG5JI5gEj
https://dl.doubtnut.com/l/_yivhreFQacBG
https://dl.doubtnut.com/l/_9jc99ZCNvM9N


12.  


 


Watch Video Solution

+ +
1

cos α + cos 3α

1

cos α + cos 5α

1

cos α + cos 7α

+.... +
1

cos α + cos(2n + 1)α

= cosecα[tan(n + 1)α − tan α]
1

2

13. prove that,

 or 0

accordingly as n an even or odd integer.

Watch Video Solution

( )
n

+ ( )
n

= 2cotncos A + cos B

sin A − sin B

sin A + sin B

cos A − cos B

A − B

2

14. 

Watch Video Solution

If sin A =  and sin B = , find the value of tan cot
1

√2

1

√3

A + B

2
A − B

2

https://dl.doubtnut.com/l/_9jc99ZCNvM9N
https://dl.doubtnut.com/l/_L96HXSlN1EVF
https://dl.doubtnut.com/l/_OoOyycoP6fcX
https://dl.doubtnut.com/l/_thMOpiEZFfUk
https://dl.doubtnut.com/l/_vxEWz8ecbbXy


Multiple Correct Answers Type

15. Find the value of A for which  is maximum.

Watch Video Solution

cos A sin(A − )
π

6

16. 

Watch Video Solution

The two different values of θ,  namely θ1  and θ2  satisfy sin(θ + ϕ) =

 prove that , = cot ϕ
sin θ1 + sin θ2

cos θ1 + cos θ2

1. The value of  is-

A. 

B. 

C. 

sin 47∘ + sin 61∘ − sin 11∘ − sin 25∘

sin 83∘

cos 367∘

cos 7∘

https://dl.doubtnut.com/l/_vxEWz8ecbbXy
https://dl.doubtnut.com/l/_TzoAP5Xjcteq
https://dl.doubtnut.com/l/_FVqCGMowK2eO


D. 

Answer: A::B::C::D

Watch Video Solution

sin 97∘

2. The value of  (where n is a

whole number ) is equal to-

A. 0

B. 

C. 

D. 

Answer: A::C

Watch Video Solution

( )
n

+ ( )
ncos α + cos β

sin α − sin β

sin α + sin β

cos α − cos β

2tann A − B

2

2cotn A − B

2

2cotn A + B

2

https://dl.doubtnut.com/l/_FVqCGMowK2eO
https://dl.doubtnut.com/l/_ahH99hqjq0Z1


3. 

A. 

B. 

C. 

D. 

Answer: A::B::C::D

Watch Video Solution

=
cos 29∘ + sin 29∘

cos 29∘ − sin 29∘

tan 74∘

cot 16∘

cot 196∘

tan 254∘

4. 

will be-

A. 

B. 

If sin α + sin β = pand cos α + cos β = qthen the value of tan
α − β

2

√
4 − p2 − q2

p2 + q2

√
p2 + q2 − 4

p2 + q2

https://dl.doubtnut.com/l/_7PTdOUC2ryi2
https://dl.doubtnut.com/l/_x6lvjIEYSPex


Integer Answer Type

C. 

D. 

Answer: A::C

Watch Video Solution

−√
4 − p2 − q2

p2 + q2

−√
P 2 + q2 − 4

p2 + q2

5. 

Watch Video Solution

sin sin =
π

12
5π

12

1.  then the value of

xy+yz+zx will be-

Watch Video Solution

Ifx sin θ = y sin(θ + ) = z sin(θ + ),
2π

3

4π

3

https://dl.doubtnut.com/l/_x6lvjIEYSPex
https://dl.doubtnut.com/l/_EcA1K6SkAPGt
https://dl.doubtnut.com/l/_HLthBFJZPvcG
https://dl.doubtnut.com/l/_RW7jrhbb1uAd


Comprehension Type

2. The value of 

Watch Video Solution

16cos 10∘ cos 30∘ cos 50∘ cos 70∘ is

3. 

Watch Video Solution

=
cos A + cos 3A + cos 5A + cos 7A

cos A cos 2A cos 4A

4. 

Watch Video Solution

cos 52∘ + cos 68∘ + cos 172∘ =

5. 

Watch Video Solution

=
1 − 4sin 10∘ sin 70∘

2sin 10∘

https://dl.doubtnut.com/l/_RW7jrhbb1uAd
https://dl.doubtnut.com/l/_UZuMY7uDjXj9
https://dl.doubtnut.com/l/_EddTtwsL29uN
https://dl.doubtnut.com/l/_ubjAI3UoFJtZ
https://dl.doubtnut.com/l/_9DNDtCeeLyhI


1.  


A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

Ifx cos α + y sin α = x cos β + y sin βthen

tan =
α + β

2

y

x

x

y

x + y

y

x − y

y

2.  


A. 

B. 

C. 

Ifx cos α + y sin α = x cos β + y sin βthen

=
2(1 − cos(α − β))

(cos β − cos α)2

x2 − y2

y2

x2 + y2

y2

x + y

y

https://dl.doubtnut.com/l/_9DNDtCeeLyhI
https://dl.doubtnut.com/l/_i87MwNqWTH1Y


D. 

Answer: B

Watch Video Solution

x − y

y

3.  


A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

Ifx cos α + y sin α = x cos β + y sin βthen

=
sin α − cos α − sin β + cos β

sin α + cos α − sin β − cos β

y + x

y − x

y − x

y + x

x − y

x + y

x + y

x − y

https://dl.doubtnut.com/l/_i87MwNqWTH1Y
https://dl.doubtnut.com/l/_Mcf7XHntv9X4


4. A,B,C are three angles of a triangle and  


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

sin(A + ) = nsin
c

2

C

2

tan tan =
A

2
B

2

n + 1

n − 1

1 − n

1 + n

n − 1

n + 1

1 + n

1 − n

5. A,B,C are three angles of a triangle and  


A. n

B. 

sin(A + ) = nsin
c

2
C

2

=
sin C

2

cos A − B

2

−n

https://dl.doubtnut.com/l/_zklnyXKqWPO7
https://dl.doubtnut.com/l/_lBrq63l4PWyj


C. 

D. 

Answer: C

Watch Video Solution

1

n

−
1

n

6. A,B,C are three angles of a triangle and  


A. 

B. 

C. 

D. 

Answer: A

View Text Solution

sin(A + ) = nsin
c

2

C

2

=
sin C

2

cos cosA

2
B

2

2

n + 1

1

n + 1

−
2

n + 1

1

n + 1

https://dl.doubtnut.com/l/_lBrq63l4PWyj
https://dl.doubtnut.com/l/_kgXPkVekNE2H



